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(F/1=1)
Kitigk= (1 F) 228. 28 150 810 710
FiERE1 (1F) 136. 12 126 510 430
FiER=E2 (1F) 136. 12 117 510 430
i FER=ES3 (2F) 123. 97 90 510 290
;Z hiERE4 (2F) 123. 97 99 510 290

% BH#E (2 F) 198. 1 144 710 630 | 3,290
k=4 (3F) 83.81 64 310 290
HEE1I~12 (3F) 30. 35 100 150
HEEA~E (KFFBEH1 F) 19. 21 100 150
BEA—L (FEEHLF) 260. 46 920 710
i 674.80 | 496 | 2,440 1, 840
(EN=EE] 794. 82 2, 750 —
REREE (RO 1/2) 397. 41 1,430 —
F=2a—hk1fH BHHY) 608. 29 310 —
F=Aa—h1fE (HBHAZRL) 608. 29 200 —
779K (M7 w7 +74—VF) 5654. 30 1,020 —
779 R (M7 v 737 4— K) 510 —
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